MODEL QUESTION 24

1. Fill in the blanks with the words from the box. Make any change if necessary.

| forward I gratefulness | appreciation | or | the ] for ] natural | friendship ] the [from ]
Gratefulness is (a) — acknowledgment and (b) — of help received (c) — others. In the society, we cannot do
all things alone. Sometimes we need the help of others. We are inter-dependent in the society. A man may
be in danger, (d) — in problem. It is a () — instinct in man to come (f) —, because of his fellow feeling, (g)
— and kinship with help for the needy. To acknowledge and appreciate such help is (h) —. Gratefulness
comes from (i) — depth of the heart and finds its manifestation in looks, words and deeds of the grateful
man. The grateful man feels highly obliged (j) — the benefit he has received.

a e |
b f j
c g
d h

2. Fill in the blanks with suitable words.

Man has the duties towards family, society, country and the world. Man's dignity depends (a) — his works.
Man is a social (b) — on earth. He should not be irrational. He is (c) — work for others. He should not be (d)
— if he is of blue blood. He should be (e) — to help.any class of men. The man whom he is helping may be
(f) — to him by birth but he should not (g) that they are equal. He has the same blood and (h) — as the
above (i) — man. So, we all should sacrifice our lives for other's (j) —.

a e i

b f j

c 8

d h
3. Make five sentences using parts of sentences from each column of the table below.

A B C

Human, animals and | have faced with the threat of extinction today.

plants

But humans and birds are destroying plants and animals.

Various plants  and | are all equally we cannot protect our environment from being

animals spoilt.

Many wild animals care for our wild life | vanished from the earth in the last few decades.

If we do not are cruelly important elements of our environment.
4. Complete the following text with right form of the verbs given in the box.

| repent I carry | promise | receive [ be | write I reach I ask [ finish ] offer I

Once upon a time there was a great poet named Ferdousi. He (a) “Shahanama” in honour of Sultan
Mahmud. When the poet b)___ to write “Shahanama”, the Sultan ¢)___ to pay him a piece of gold for each
verse. But when the epic d)___ it was found to contain sixty thousand verses and the sultan now e)___
Ferdous only sixty thousand pieces of silver. The poet f)___ the silvers and he left the court. Afterwards the
Sultan g)__ and sent the gold pieces. His messengersh)____ too late. Asthey i)____ the poet’s house, they
found that people j) his dead body out for burial.

a e i

b f j

¢ g

d h

5. Rewrite the following passage in the reported speech.
“Where is my son?” said the grocer. “A crow carried your son away,” said the fruit seller. “You liar. How can
a crow carry away such a big boy?” “Just the same way as mice can eat away the balance and weights.”

6. Change the sentences according to directions.
a. No other problem in Bangladesh is as great as illiteracy (Use comparative degree).
b. So, the literacy rate in Bangladesh is very poor (Make negative sentence)
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. It is too poor to imagine (Make complex sentence)
. It is the duty of the education people to educate the illiteracy (Make interrogative sentence)
. The Government has taken necessary steps to eradicate illiterate (Use passive voice)
We must remove illiteracy to develop our country (Make complex sentence)
. As we are illiterate, we cannot progress (Make compound sentence)
. We must educate all if we want to get a better future (Make simple sentence)
Only education can help us to overcome all the problems (Make negative sentence)
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7. Complete the following sentences.

(a) Everybody wants friends

(b) The heart formed for love cannot be happy without

(c) You cannot receive affection if

(d) You cannot find others to love you unless

(e) . everybody wants it.

8. Complete the text adding suffixes, prefixes or the both with the root words given in the parenthesis.
Answer to the question in the examination should be to the point. You should not (a)__ (large)___ your
answers unnecessarily. When you write main ideas, you can (b)___ (short)___ your sentences. (c)___
(necessary) __ (d)___ (elaborate)__ of the answers is simply a (e)___ (waste)___ of time. This sort of
answer (f)___ (pleases)__ the (g)___ (examine)___ and they get (h)___ (irritate)__ and do not want to
give high marks. So, our students are advised to be (i)___ (caution)___ to this effect and they should not
write any (i)___ (relevant) __ point in their answer.

a e i
b f j
c g
d h
9. Make tag questions of these statements.
(a) Everybody should realize the truth, ?
(b) Money is a must for life. ?
(c) One can do almost nothing without it, ?
(d) Everything changes, ?
(e) Let him say whatever he likes, ?
10. Fill in the blanks with suitable linking words from the list.
There is hardly anybody (a) does not like flowers. Flowers are symbol of beauty and purity. Flowers
are of many kinds. (b) of them the rose is the best one. People like it most (c) it has sweet
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fragrance and beauty. (d) flowers bloom, nature wears a charming look. We cannot help gazing at

them. Flowers always charm and amuse us with their beauty and sweet scent. (e) , flowers are very
necessary for human life.

a C e

b d

11. Rewrite the following passage and punctuate where necessary.

i never eat anything for luncheon she said oh dont say that i answered generously i never eat more than one
thing she said i think people eat far too much now a days a little fish perhaps i wonder if they have any
salmon
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